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1. sin(a + f) = sinacosf + cosasinf

2. sin(a — B) = sinacosf — cosasinf
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=sin45°cosa + cos45°sina

1 1
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acos(8@ —B) + b cos(8 +A) =c cosf
WAL -

acos(8 —B)+ bcos(60+A)
= a(cosOcosB + sinfBsinB) + b(cosOcosA — sinfsinA)
acosBcosB + bcosOcosA + asinfsinB — bsinfsinA
= cosfB(acosB + bcosA) + sinf(asinB — bsinA)

= c0sO X ¢ + sinf X 0 (] * $ B> 2 I2)

= c cosf
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NACE ®* > bcos(0 + a) = AE...(2)
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- BG||AD

« ~CBG= ~BDA=Lf—6

ACGB*® »GB=a cos(zCBG) =acos(B—0)=acos(6 —p)
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a cos(6 — B) + b cos(6 + A) = c cosb
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